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NEW QUESTION 1
Refer to the exhibit.

An administrator set up the following configuration:
• The distributed switch has four ESXi hosts, and each host has two 10 Gbps NICs.
• In the Network I/O Control configuration, the amount of bandwidth reserved for virtual machine (VM) traffic if 4 Gbps.
The administrator wants to guarantee that VMs in the Retail distributed port group can access 50 percent of the available reserved bandwidth for VM traffic.
Given this scenario, what should the size (in Gbps) of the Retail network resource pool be?

A. 40
B. 32
C. 8
D. 16

Answer: D

Explanation: 
4Gbps*8Nic=32Gbps*50%=16Gbps

NEW QUESTION 2
Refer to the exhibit.

After updating a predefined alarm on VMware vCenter, an administrator enables email notifications as shown in the attached alarm; however, notifications are
NOT being sent.
Where must the mail server settings be configured by the administrator to resolve this issue?

A. In the ESXi host system config
B. In the alarm rule definitions
C. In the vCenter settings in the vSphere Client
D. in the vCenter Management Interface

Answer: C

Explanation: 
Option C is correct because it allows the administrator to configure the mail server settings in the vCenter settings in the vSphere Client, which are required for
sending email notifications for alarms. Option A is incorrect because it configures the mail server settings on an ESXi host system, which are not used for sending
email notifications for alarms. Option B is incorrect because it configures the alarm rule definitions, which are already enabled in the exhibit. Option D is incorrect
because it configures the vCenter Management Interface, which is not used for sending email notifications for alarms. References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.monitoring.doc/GUID-A2A4371A-B88

NEW QUESTION 3
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An administrator is tasked with configuring vSphere Trust Authority. The administrator has completed the following steps:
• Set up the workstation
• Enabled the Trust Authority Administrator
• Enabled the Trust Authority State
• Collected information about the ESXi hosts and vCenter to be trusted Which step does the administrator need to complete next?

A. Import the Trusted Host information to the Trust Authority Cluster
B. Import the Trusted Cluster information to the Trusted Hosts
C. Create the Key Provider on the Trusted Cluster
D. Import the Trusted Host information to the Trusted Cluster

Answer: A

Explanation: 
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.security.doc/images/GUID-D205B3C1 https://docs.vmware.com/en/VMware-
vSphere/8.0/vsphere-security/GUID-39D8AB34-AD45-4B0A-8FB0-7A1

NEW QUESTION 4
An administrator is tasked with installing VMware vCenter. The vCenter Server Appliance must support an environment of:
• 400 hosts
• 4000 virtual machines
Which two resources must be allocated, at a minimum, to meet the requirements? (Choose two.)

A. 16 vCPUs
B. 30 GB Memory
C. 4 vCPUs
D. 8 vCPUs
E. 20 GB Memory

Answer: BD

Explanation: 
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vcenter.install.doc/GUID-88571D8A-46E1-464

NEW QUESTION 5
An administrator is tasked with implementing a backup solution capable of backing up the Supervisor cluster, vSphere Pods, and persistent volumes.
Which two solutions must be used to meet this requirement? (Choose two.)

A. VMware vCenter
B. Standalone Velero and Restic
C. NSX-T Manager
D. vSphere Host Client
E. Velero Plugin for vSphere

Answer: BE

NEW QUESTION 6
An administrator is deploying a new all flash vSAN cluster based on the vSAN Original Storage Architecture (OSA).
What is the minimum supported network throughput in Gb/s for each host?

A. 50
B. 10
C. 25
D. 1

Answer: B

Explanation: 
The minimum supported network throughput in Gb/s for each host in an all flash vSAN cluster based on the vSAN Original Storage Architecture (OSA) is 10.
References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.vsan-planning.doc/GUID-FCEA0CDD
vSAN Express Storage Architecture (ESA) are only supported with 25Gbps and higher connection speeds.
ESA ReadyNodes configured for vSAN ESA will be configured with 25/50/100Gbps NICs. vSAN OSA
all-flash configurations are only supported with a 10Gb or higher connections. One reason for this is that the improved performance with an all-flash configuration
may consume more network bandwidth between the hosts to gain higher throughput. https://core.vmware.com/resource/vmware-vsan-design-guide#sec6815-sub3

NEW QUESTION 7
An administrator is preparing to perform an update to vSphere clusters that are running vSAN. The administrator wants to ensure that the following requirements
are met as part of the update:
•All hosts in the cluster are updated with the same software.
•The firmware versions on the hosts are updated
•The new software versions are checked for compliance against the vSAN Hardware Compatibility List. Which three steps should the administrator take to meet
these requirements? (Choose three.)

A. Configure vSphere Lifecycle Manager with an image for the cluster.
B. Register the vendor hardware management system as a vCenter Server extension.
C. Download the firmware updates from the VMware website
D. Download the firmware updates from the vendor website.
E. Run a hardware compatibility check using vSphere Lifecycle Manager
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F. Configure vSphere Lifecycle Manager with a baseline for the cluster.

Answer: ABE

Explanation: 
The administrator should take these three steps to perform an update to vSphere clusters that are running vSAN:

 Configure vSphere Lifecycle Manager with an image for the cluster, which allows the administrator to specify the desired ESXi version and firmware for the
hosts in the cluster.

 Register the vendor hardware management system as a vCenter Server extension, which allows the administrator to update the firmware on the hosts using
vSphere Lifecycle Manager. The vendor hardware management system can also provide the firmware updates to vSphere Lifecycle Manager, so there is no need
to download them from the vendor website separately.

 Run a hardware compatibility check using vSphere Lifecycle Manager, which verifies that the new software and firmware versions are compatible with the
vSAN Hardware Compatibility List.

NEW QUESTION 8
An administrator is asked to segregate virtual machine (VM) traffic by VLAN on a vSphere standard switch The following requirements must be met:
•VLAN ID on the switch port group must be 4095.
•VLAN tagging must be done at the VM level. Which tagging mode is required?

A. External Switch Tagging (EST)
B. None
C. Virtual Guest Tagging (VGT)
D. Virtual Switch Tagging (VST)

Answer: C

Explanation: 
The tagging mode that is required is Virtual Guest Tagging (VGT), which allows VLAN tagging to be done at the VM level. VGT requires that the VLAN ID on the
switch port group be set to 4095, which is a special value that indicates that packets from all VLANs are allowed to pass through. References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.networking.doc/GUID-D35A0A1C-B6
https://kb.vmware.com/s/article/1003806

NEW QUESTION 9
An administrator is attempting to configure Storage I/O Control (SIOC) on five datastores within a vSphere environment. The administrator is being asked to
determine why SIOC configuration completed successfully on only four of the datastores.
What are two possible reasons why the configuration was not successful? (Choose two.)

A. The datastore contains Raw Device Mappings (RDMs).
B. SAS disks are used for the datastore.
C. The datastore has multiple extents.
D. The datastore is using ISCSI.
E. The administrator is using NFS storage.

Answer: AC

Explanation: 
SIOC configuration may fail if the datastore contains RDMs or has multiple extents, as these are not supported by SIOC.
References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.storage.doc/GUID-FB3F5C5C-D3F6-4
Storage I/O Control is supported on Fibre Channel-connected, iSCSI-connected, and NFS-connected storage. Raw Device Mapping (RDM) is not supported.
Storage I/O Control does not support datastores with multiple extents.

NEW QUESTION 10
If a distributed switch uses the "Route based on physical NIC load" load balancing algorithm, what does the mean send or receive utilization of an uplink need to
exceed for the flow of traffic to move to the second uplink?

A. 75 percent of the capacity over a 30 second period
B. 60 percent of the capacity over a 30 second period
C. 60 percent of the capacity over a 40 second period
D. 75 percent of the capacity over a 40 second period

Answer: A

Explanation: 
The distributed switch calculates uplinks for virtual machines by taking their port ID and the number of uplinks in the NIC team. The distributed switch tests the
uplinks every 30 seconds, and if their load exceeds 75 percent of usage, the port ID of the virtual machine with the highest I/O is moved to a different uplink.
https://docs.vmware.com/en/VMware-vSphere/8.0/vsphere-networking/GUID-959E1CFE-2AE4-4A67-B4D4-2

NEW QUESTION 10
An administrator is tasked with configuring remote direct memory access (RDMA) over Converged Ethernet v2 (RoCE v2).
Which two types of adapters must the administrator configure? (Choose two.)

A. Paravirtual RDMA adapter
B. RDMA network adapter
C. Software iSCSi adapter
D. Fibre Channel over Ethernet (FCoE) adapter
E. Software NVMe over RDMA storage adapter
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Answer: BD

Explanation: 
ESXi 7 and later supports RoCE v2 technology, which enables RDMA over an Ethernet network. Hosts use an RDMA network adapter installed on the host and a
software NVMe over RDMA storage adapter.
https://docs.vmware.com/en/VMware-vSphere/8.0/vsphere-storage/GUID-F4B42510-9E6D-4446-816A-501286

NEW QUESTION 12
An administrator runs a two-node vSphere cluster, which contains two domain controller virtual machines (VMs). The administrator wants to ensure that VMs run
on separate hosts without interfering with normal maintenance operations.
How should the administrator configure Distributed Resource Scheduler (DRS)?

A. Create a 'Must run Virtual Machines to Hosts' anti-affinity rule.
B. Create a 'Virtual Machines to Virtual Machines' anti-affinity rule.
C. Create a 'Virtual Machines to Virtual Machines' dependency rule.
D. Create a 'Should run Virtual Machines to Hosts' anti-affinity rule.

Answer: D

Explanation: 
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.resmgmt.doc/GUID-793013E2-0976-4

NEW QUESTION 16
A combination of which two components of the software-defined data center (SDDC) are responsible for the initial abstraction of CPU, memory, disk, and network
resources and their subsequent management? (Choose two.)

A. VMwere ESXi
B. VMware vCenter Cloud Gateway
C. VMware Ana Suite Lifecycle
D. VMware vCenter
E. VMware Ana Operations

Answer: AD

Explanation: 
VMware ESXi and VMware vCenter are the two components of the software-defined data center (SDDC) that are responsible for the initial abstraction of CPU,
memory, disk, and network resources and their subsequent management1. VMware ESXi is the virtualization platform where you create and run virtual machines
and virtual appliances2. VMware vCenter is the service through which you manage multiple hosts connected in a network and pool host resources2. These two
components are part of the SDDC architecture that enables a fully automated, zero-downtime infrastructure for any application, and any hardware, now and in the
future3.

NEW QUESTION 18
After a recent unexplained peak in virtual machine (VM) CPU usage, an administrator is asked to monitor the VM performance for a recurrence of the issue.
Which two tools can the administrator use? (Choose two.)

A. vCenter Management Interface
B. Direct Console User Interface (DCUI)
C. vSphere Performance Charts
D. vCenter Command Line Interface
E. ESXi Shell

Answer: CE

Explanation: 
To monitor the VM performance for a recurrence of the issue, the administrator can use vSphere Performance Charts, which provide graphical views of various
performance metrics for VMs and other objects; or ESXi Shell, which provides command-line access to ESXi hosts and allows running various commands to
collect performance data.
References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.monitoring.doc/GUID-D89E8267-C74 https://docs.vmware.com/en/VMware-
vSphere/7.0/com.vmware.vsphere.monitoring.doc/GUID-CDC20FD2-FE

NEW QUESTION 20
An administrator must gracefully restart a virtual machine (VM) through the vSphere Client but the option is greyed out. The administrator has full administrative
access on VMware vCenter and all the objects available in vCenter, but has no access to log onto the operating system.
Which action should the administrator take to meet the objective?

A. Upgrade the virtual hardware
B. Migrate the VM to another host
C. Install VMware Tools
D. Restart vCenter

Answer: C

Explanation: 
Installing VMware Tools will enable the graceful restart option for the virtual machine, as well as other features such as time synchronization and guest OS
customization.
References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.vm_admin.doc/GUID-9A5093A5-C54
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NEW QUESTION 23
Refer to the exhibit.

An administrator is tasked with adding new capacity to an existing software-defined data center (SDDC).
• The SDDC currently hosts two vSphere clusters (ClusterA and ClusterB) with different CPU compatibilities.
• vSphere vMotion and vSphere Distributed Resource Scheduler (DRS) are currently in use in the SDDC.
• The new capacity will be implemented by provisioning four ESXi hosts running a new generation of Intel Skylake CPUs.
• All workload virtual machines (VMs) must support live migration to any cluster in the SDDC.
The administrator noticed the running critical "ever virtual machine (VM) shown in the exhibit is not migrating using vSphere vMotion to the original Clusters A or B.
Which three steps must the administrator take to support this functionality? (Choose three.)

A. Power on the VM.
B. Disable the Enhanced vMotion Compatibility (EVC) on the VM.
C. Reboot the VM.
D. Configure the Enhanced vMotion Compatibility (EVC) on vSphere Cluster A and B to support Intel Skylake.
E. Power off the VM.
F. Configure the Enhanced vMotion Compatibility (EVC) on the VM to Intel Skylake.

Answer: ADE

NEW QUESTION 24
An administrator remotely deploys VMware ESXi using an out of band management connection and now needs to complete the configuration of the management
network so that the host is accessible through the vSphere Host Client.
The following information has been provided to complete the configuration:
•Host FQDN esxi01corp.local
•Management VLAN ID: 10 DHCP: No
•Management IP Address: 172.16.10.101/24
•Management IP Gateway: 172.16.10.1
. Corporate DNS Servers: 172 16.10.5, 172.16.10..6
•DNS Domain: corp.local
In addition, all host configurations must also meet the following requirements:
•The management network must use only IPv4 network protocols.
•The management network must be fault tolerant
Which four high level tasks should the administrator complete in the Direct Console User Interface (DCUI) in order to meet the requirements and successfully log
into the vSphere Host Client? (Choose four.)

A. Set the value of the VMware ESXi Management Network VLAN ID to 10
B. Configure at least two network adapters for the VMware ESXi Management Network
C. Update the VMware ESXi Management Network IPv4 configuration to use a static IPv4 address
D. Create a DNS A Record for the VMware ESXi host on the corporate DNS servers
E. Disable IPv6 for the VMware ESXi Management Network
F. Restore the original Management vSphere Standard Switch.
G. Update the VMware ESXi Management Network DNS configuration to use the corporate DNS serversfor ' names resolution

Answer: ABCD

NEW QUESTION 28
An administrator wants to allow a DevOps engineer the ability to delete Tanzu Kubernetes Grid (TKG) cluster objects in a vSphere Namespace.
Which role would provide the minimum required permissions to perform this operation?

A. Administrator
B. Can View
C. Owner
D. Can Edit

Answer: D

Explanation: 
The Can Edit role would provide the minimum required permissions to delete Tanzu Kubernetes Grid (TKG) cluster objects in a vSphere Namespace, as it allows
creating, updating, and deleting objects within a namespace.
References:
https://docs.vmware.com/en/VMware-vSphere/7.0/vmware-vsphere-with-tanzu/GUID-C2E9B5C1-D6F1-4E9B
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NEW QUESTION 31
An administrator is tasked with deploying a new on-premises software-defined data center (SDDC) that will contain a total of eight VMware vCenter instances.
The following requirements must be met:
• All vCenter instances should be visible in a single vSphere Client session.
• All vCenter inventory should be searchable from a single vSphere Client session.
• Any administrator must be able to complete operations on any vCenter instance using a single set of credentials.
What should the administrator configure to meet these requirements?

A. Two Enhanced Linked Mode groups consisting of four vCenter instances each in a Single Sign-On domain.
B. A single Hybrid Linked Mode group consisting of four vCenter instances each in a Single Sign-On domain.
C. A single Enhanced Linked Mode group consisting of eight vCenter instances in one Single Sign-On domain.
D. A single Hybrid Linked Mode group consisting of eight vCenter instances in one Single Sign-On domain.

Answer: B

Explanation: 
To meet the requirements of viewing and searching all vCenter instances and inventory with a single vSphere Client session and a single set of credentials, the
administrator needs to configure a single Enhanced Linked Mode group consisting of eight vCenter instances in one Single Sign-On domain.
References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.vcenterhost.doc/GUID-39A8C7F4-8D8
https://docs.vmware.com/en/VMware-vSphere/8.0/vsphere-vcenter-installation/GUID-4394EA1C-0800-4A6A- 

NEW QUESTION 32
An administrator is configuring vSphere Lifecycle Manager to install patches to a vSphere cluster. The cluster runs workload virtual machines (VMs) that are
incompatible with vSphere vMotion, and therefore cannot be live migrated between hosts during the installation of the patches.
Which configuration in vSphere Lifecycle Manager will allow the administrator to reduce the downtime associated with the patching operation without migrating the
VMs?

A. Enable Distributed Power Management (DPM) and set the VM power state to the suspend to disk option
B. Enable Quick Boot and set the VM power state to the suspend to disk option
C. Enable vSphere High Availability (HA) admission control and set the VM power state to the suspend to memory option
D. Enable Quick Boot and set the VM power state to the suspend to memory option

Answer: D

Explanation: 
https://docs.vmware.com/en/VMware-vSphere/8.0/vsphere-lifecycle-manager/GUID-06A5D316-9452-4A5D-A The administrator should enable Quick Boot and set
the VM power state to the suspend to memory option, which will allow the administrator to reduce the downtime associated with the patching operation without
migrating the VMs. Quick Boot is a feature that skips the hardware initialization phase during host reboot, which reduces the system boot time. Suspend to
memory is an option that preserves the state of the VMs in the host memory and restores them from memory after the reboot, which minimizes the VM downtime.
These two features work together to optimize the remediation process and speed up the patching operation. References: https://docs.vmware.com/en/VMware-
vSphere/7.0/com.vmware.vsphere-lifecycle-manager.doc/GUID-5AF3C6

NEW QUESTION 34
An administrator is tasked with providing users access to objects within an existing VMware vCenter instance. The vCenter inventory has a single data center with
one management vSphere cluster and five workload vSphere clusters.
The following requirements must be met for assigning the users access:
• Users must only be able to view all of the inventory objects associated with the management vSphere cluster.
• Users must be able to edit all of the inventory objects associated with the workload vSphere clusters. The administrator creates a custom role to provide the
permissions needed to allow users to edit inventory
objects.
Which series of steps should the administrator complete to assign the custom role and provide the required level of access to users?

A. Apply Global permissions to assign the Read Only role to the root vCenter object.Apply vCenter permissions to assign the custom role to the workload vSphere
clusters and enable propagation.
B. Apply Global permissions to assign the Read Only role to the root vCenter object and enable propagatio
C. Apply vCenter permissions to assign the custom role to the workload vSphere clusters and enable propagation.
D. Apply Global permissions to assign the Read Only role to the root vCenter objec
E. Apply vCenter permissions to assign the custom role to the workload vSphere clusters.
F. Apply Global permissions to assign the Read Only role to the root vCenter object and enable propagatio
G. Apply vCenter permissions to assign the custom role to the workload vSphere clusters.

Answer: D

Explanation: 
Option D is correct because it allows the administrator to apply Global permissions to assign the Read Only
role to the root vCenter object and enable propagation, which will apply to all of the inventory objects in vCenter, and then apply vCenter permissions to assign the
custom role to the workload vSphere clusters, which will override the Global permissions and allow users to edit all of the inventory objects associated with the
workload vSphere clusters. Option A is incorrect because it will not enable propagation for the Global permissions, which will limit the Read Only role to the root
vCenter object only. Option B is incorrect because it will enable propagation for both the Global and vCenter permissions, which will create a conflict between the
Read Only and custom roles. Option C is incorrect because it will not enable propagation for either the Global or vCenter permissions, which will limit the Read
Only role to the root vCenter object only and the custom role to the workload vSphere clusters only. References:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.security.doc/GUID-A2A4371A-B888

NEW QUESTION 38
An administrator notices a Fibre Channel adapter in an ESXi host has been experiencing inconsistent connectivity states.
Which trigger can be used to quickly identify the issue and alert the administrator so that the issue can be resolved?

A. Host Connection Lost
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B. Lost Network Path Redundancy
C. Lost Network Connectivity
D. Lost Storage Connectivity

Answer: D

Explanation: 
https://kb.vmware.com/s/article/2014553
Book course: 6-23 Fibre Channel SAN Components Using SAN switches, you can set up path redundancy to address any path failures from host server to switch,
or from storage array to switch. 6-25 Multipathing with Fibre Channel By default, ESXi hosts use only one path from a host to a given LUN at any one time. If the
path actively being used by the ESXi host fails, the server selects another available path.
The trigger that can be used to quickly identify the issue and alert the administrator so that the issue can be resolved is:
Lost Storage Connectivity
This alert is triggered when an ESXi host loses connectivity to storage devices. In this case, it would alert the administrator to the inconsistent connectivity states of
the Fibre Channel adapter12.

NEW QUESTION 39
An administrator has Windows virtual machines (VMs) and VMware Tools is installed in each VM. The administrator performs a status check of VMware Tools
using vSphere Lifecycle Manager.
What is the VMware Tools status for the Windows VMs if the version of VMware Tools has a known problem and must be immediately upgraded?

A. Version Unsupported
B. Guest Managed
C. Unknown
D. Upgrade Available

Answer: A

Explanation: 
If VMware Tools has a known problem, the tools status will be Version Unsupported https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere-
lifecycle-manager.doc/GUID-12649CB

NEW QUESTION 42
......
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